Reg. No. : e,

FIRST YEAR HIGHER SECONDARY EXAMINATION, MARCH 2020

Part — 111 Time : 2 Hours
COMPUTER APPLICATION  Cool-off time : 15 Minutes
(COMMERCE)

Maximum : 60 Scores

@ a

eneral Instructions to Candidates :

® There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART - A

5x1=5)

Answer any 5 questions from 1 to 6. Each carries 1 Score.

1. The base of Hexadecimal number system is .

2, 8, 10, 16)

2. Write the full form of HDMI,

3. Name the software that translates assembly language program into machine language

program.

4. Pick odd one out :

(float, break, add, char)

5. Which is the keyword used for empty data type ?

6. The protocol used for internet communication is

PART -B

Answer any 9 questions from 7 to 18. Each carries 2 Scores. (9x2=18)

7. What are the methods of representing characters in memory ?

8.  Categorize devices given below into input devices and output devices.

Joystick, Scanner, Plotter, Microphone, Printer, Mouse, VDU, Speaker

9.  Write any two limitations of flow chart.
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PART - A
1 )@ 6 ueow)an ealosyemglol agomsels 5 AQ)GIROTIN QODV ag)#)@)dh.
1 capod allo. (5x1=5)

L. 9a0go ecwmiacs moud miquasiacd eaumy @Y.

(2, 8, 10, 16)

2.  HDMI @)6s a)3qm djato af)9)m)s:.

3. mnvoeggl BI00CUIER  BINWIAOM ORI  EI00CUIR cuuamom’leeues{ @oQ)aM
GILIAOGURAIOM Gald. '

4.  &FODIBB HAISITTNGE THOOETMS)OD af))®)M |

(float, break, add, char)

5. umymom@ awago 695l cAleNEl DalcIUlleimm @leaB ag@moem ?

6. @MBBPBOMY HIAREMICHNHM DalCRIUFAN G IOCFICHIUB __ @RYEHYN).

PART -B
7 2)m@3 18 AIe0WR8 62138 agomBlen. 9 na)gpcmﬂm' DOMOOAL) ).
2 eapod allmo. 9Ox2=18)

7. encadiwics 000U (IGNIIWOMe O IGM@IMES AU agemejoacem ?

8. @00¢ os05)TNEleNM DalHAIMEMOE DMBalg Dal®dONMENBOW)e BVSaNS
DalBHOSMEBEIW]o Do GHEIHE) .

Joystick, Scanner, Plotter, Microphone, Printer, Mouse, VDU, Speaker

9.  0qQ0 210851003 agomBEl)o O aldldl T @B ag)P)m)B.
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10.

11.

12.

13.

14.

15.

16.

17.

Write the syntax to declare a variable in C-++ with an example.

Classify the following operators into unary and binary :

[<,!,=,++]

Explain two ways to write comment in C++.

Compare relational operator and logical operator.

Consider the following C++ code :
for(i=1;i <= 10; ++1)
cout << j;

Rewrite the above code using while loop.

What are the uses of repeaters ?

Write the characteristics of Bluetooth transmission.

Explain cc and bec sections in an e-mail.

18. Define the term Tele conferencing.
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10.

11.

12.

13.

14,

15.

16.

17.

C+ @8 scudlomid wWigod eugym@Imes ansreIsm §oanEsm Tvadlmo
af) PO}

@6 OBIS)OTIB M 630 a0gM)@®eg @imd], eeemimdl agafl Boqjcogoegowl
@00 @@laes: :

(< b ! b = b + +)

C++ @3 comment ag)9)ma10m)es eane leud allvodleden)s.

dIGElaHeM@3 B0 |C0Q0) GLIEBHM3 639a|G0Q0) TOAMAL Ba Q).

®I6Y H@IS)ITHBBNIM C++ BBHOW al@INETTAHM, :
for(i=1; i <=10; ++ i)
cout << i;

2)6g@8 O305)oNElHMN G0 While loop @aleouilaf aogl ag)e)®)s:.

Repeaters 603 2aIGRONGBUB af)IHOEM ?

Bluetooth Mo IaxeM@BINANG (IGD BB af)$)®)>.

e-mail &el ce, bee ag)arfl Govemeg &)lal aflaudea)s.

18. Tele conferencing ag)m aiBo MAQ)a lloe)d:.
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PART -C

Answer any 9 questions from 19 to 30. Each carries 3 Scores. (O x3=27)

19. Differentiate RAM and ROM.
20. Explain any three common methods used for e-waste disposal.

21.  Define the following :
(i) Syntax error
(i) Logical error

(ii1)) Runtime error

22.  Define token in C++. Name any four tokens available in C++.

23.  Find the value of z in the following expression, if x = 10 and y = 4
i) z=x%y |
(i) z=(x<20)&& (y<5)
(i) z=(x>20);;(y>>5)
24. Consider the following C++ code :
intx=5,y=2;
float z;
z=x/y;

cout << z;

Write the output of the above code. Justify your answer,
25.  What is meant by type modifier ? Explain any two type modifier in C++ .
26. Differentiate between switch and if ... else if statements.

27. Write three parts of a URL with an example.

28. Differentiate LAN and WAN.
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19.

20.

21

22.

23.

24.

25.

26.

27.

28.

PART -C
19 a)®ad 30 USHOWDT 32103 G 68 ago®ERLl)o 9 nmggcmﬂm' DONOHDW)®) .
3 capod allw.. (9x3=27)

RAM, ROM agyamilas menilengs aiymipmusmad ageime.

e-waste mdamodesmo 92190100 HaAUOW PAIGRIUABNM aBO®ENRI0 BN
Bl 203 onuodlee;m‘lasvga,.

@I6¥ OIS TG SNMA MBQYa N :
(i) Syntax error

(i) Logical error

(ii1) Runtime error

C++ ee1 token TdQaNlde)a. C++ @ RIRIAOD oROMBIIRNe MOLI BSIHEMBHBIOS
Gal® ag) )],

x of aller 10 g0 y 6@ afler 4 9o @ReMBIE @6Y OBS)ETIElEeM
n@)ﬁ;G)(_an&dm'kUa z 6 aflel @ere)afislon)s.

1) z=x%y

(i) z=(x<20)&&(y<5)

(ii)) z=(x>20);;({y>3)

@069 OB0S)OTINESNMN CH CHIW alBlnEloa)e :

intx=35,y=2;
float z;
z=xy;
cout << z;
2) ST 30501 GBI 8DFalS af) ). TTBROS QOD MVIWBTIHO)S.

Type modifier @AMO@OBMM@ a0 ? C+ 021 agom@ilals oane’type modifiers

oM &)0la] fldle:Glaa)e.
switch, if ... else if (ITROAUMEUB ®eALNSB QI OTVEBUB af) YD),

URL 613 2307 @63BU3 232006 TVadl@o ag) @),

LAN, WAN a0l @azlenss aljmioauengd af)oim)d.
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29. What is search engine ? Write any two example.

30. Write any three advantages of e-business.

PART-D

Answer any 2 questions from 31 to 33. Each carries 5 Scores.

31. (i) Find the 2’s complement of (100010),

(i) Find the value of x, y, z from the following :
(@ (10101), = (x),,
(b) (107)g=(y),

(€) B51),,= (2

32. Consider the following algorithm :
Step 1 : Start
Step2: N=1
Step3: PrintN
Step4: N=N+1
Step 5: If N <=5 then goto step 3
Step 6 : Stop
(i)  Write the output of the above algorithm.

(ii) Draw the flow chart of the above algorithm.
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h engi y
29. Searchl ENgiNe a3 ag)1)'? ngemeiel e 9RIADEEMEMUD af) 1),
30. e-business &0 ngo®BEN° ) cameB ) o) @),

PART -D

31 2)@@8 33-IO0W)PA Ga1983@NGEE agomBILIe 2 Af)FROTID WW"Z@Z@-
5 0@06 allo. 2xS= 10)

31. (i)  (100010), 6@ 2's c@ogfloac aenejaliclone. ¢))

(i) ©o0® esosEmideamauied e x ¥, z egaiu@es afles

BRI, :

(@ (10101),= (), | | )
(b) (107)5=(y), M
© (351)0= @) )

32. @969 H&IS)ATHIA|HNM @@ aldlnemilea)s :

Step 1: Start
Step2: N=1
Step 3 : Print N
Step4: N=N+1

Step 5 : If N <= 5 then go to step 3

Step 6 : Stop
(i) @egod He05)om @@ICNOTOATION BVFal)g ad) L)) )
(i) oegod £IS)OTIBlA}M @ ECNOTOTNOM Gago 21085 AUUOLe). 3)

FY-46 9 P.T.O.



33. Consider the following C++ code :
int x, sum;
sum = 0;

1;

[

X
While (x < = 5)
{
Sum = sum + x;
X ++;
}
Cout << sum;
()  Which is the loop control variable in above code ? D

(1)  Write the four elements initialization, test expression, update statement and body

of loop in the above code. , (2)

(iii) Write the output of above code. ()
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33. @90 OBSITTNEBMN C++ G0 al@lsmen)d :

int x, sum;

)
(ii)

(i) 2BS1BB OB0S)OTEBNM BBHOUWIOHAF BVGaNG )9 D).

FY-46

sum = 0;

Cout << sum;

2SN 05l Ceaoul@d loop control caidl@emicd ag@oem ?

MHSIT O3S TGN esouleal initialization, test expression, update

statement, body of loop agyamial ag)e)m)é>.
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